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QUESTION NO: 1

Traditional operating systems allocate resources such as CPU and

memory for applications installed on computers.

Which vSphere component schedules resource for virtual machines in a

similar way?

A. virtual Hardware

B. vCenter Server

C. ESXi Hypervisor

D. VMware Tools

ANSWER: A C 

QUESTION NO: 2

Which two guest operating systems are supported when a virtual

machine must be deployed?

A. iOS

B. Microsoft Windows

C. Android

D. MacOS

E. T/TOS (tandem Transactional OS)

ANSWER: B D 

QUESTION NO: 3

Which feature allows an administrator to implement master copies of virtual machines to create ready-for-use virtual 
machines?

A. Templates

B. Resource Pools

C. Snapshots
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D. Custom Attributes

ANSWER: A 

QUESTION NO: 4

Which two block storage protocols are supported on vSphere?

A. SAB

B. SMB

C. ISCSI
D.NFSv4.1

D. NFSv3

ANSWER: A C 

QUESTION NO: 5

Which selection is optional when deploying a new virtual machine in

the vSphere Client?

A. Compute resource

B. Guest OS

C. Folder

D. Data center

ANSWER: D 

QUESTION NO: 6

A vSphere administrator sees the alarm:

vSphere HA virtual machine failed to failover

This occurred for virtual machines (VMs) in a cluster with vSphere High Availability (HA) enabled. The guest operating 
system on the VMs did not report a power failure.

What is a possible cause of this event?

A. The host is still running but has disconnected from the network.

B. The VMs cloning operations did not complete.
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C. A reboot of vCenter Server impacted vSphere HA.

D. The VMs encountered an error during migration using vSphere vMotion.

ANSWER: A 

QUESTION NO: 7

Which feature must be enabled to configure vSphere Proactive HA?

A. vSphere DRS

B. Cluster EVC

C. Fault Tolerance

D. vSphere HA

ANSWER: D 

QUESTION NO: 8

A system administrator has to configure several virtual machines for different business units. The administrator needs to 
enable features that allow overcommitment of resources while adhering to the business requirements and different 
department performance SLAs.

Which two features should the administrator enable to achieve this goal? (Choose two.)

A. vSphere Distributed Power Management

B. vSphere Fault Tolerance

C. vSphere Resource Pools

D. vSphere High Availability

E. vSphere Storage I/O Control

ANSWER: C E 

QUESTION NO: 9

Which two vSphere features help address an organization's business availability challenges? (Choose two.)

A. vSphere Fault Tolerance

B. vSphere Pod Service

C. vSphere DPM
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D. vSphere Trust Authority

E. vSphere High Availability

ANSWER: A E 

QUESTION NO: 10

What is a benefit of VMware vSphere Storage APIs - Data Protection?

A. It enables centralized, off-host. LAN-free backup of vSphere virtual machines.

B. It allows backup of a virtual machine with a backup agent in the guest OS.

C. It increases ESX host resources to do backup processing.

D. It facilitates decentralized, on-host, LAN-free backup of vSphere virtual machines.

ANSWER: A 
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